B % W& &

e ACIE 3 23i:
NO [T £ EREAR A& =EOYE
001 | fthyhYAC (EF5F1/8) $3501] D+7 |1 (1Kg) 10kg
002 [RALAVRYAC (EFER1/8) $9504] D+7 |1 (1Kg) 10kg
5 (003 |EKGLAVEYA S (RFEM1/8)#9508 D+7 |18 (1Ke) 10kg
v
k1004 [YACHA XAV cmE D+10 |14 (500g) 10kg
Y [005[YACHE ARy M cmEE D+7 |12 (1Kg) 10kg
A 1006 |UACH A XN D+10 |1%%(500g) 10kg
= 1007 |YAZH A4 RXhykag D+7 [1£(1Kg) 10kg
008 |Y) A, C ER & FY k5mm[E D+10 [1%%(500g) 10kg
009 [Y A ZEREHYSmmE D+7 |1 (1Kg) 10kg
010|AvkYAC1/8 8EUIA(YATHEBA| D+14 |142(8L)]) 1058
011 |YACTYEALAR) 1808 |14 (500g) 10kg
y [012 YAZCTYEALREHYTD) 1808 |120g 1001
A |013]1/65vRY AT R—kg404] D+14 1% (1Kg) 10kg
= |014[1/4hy kY AT a2 R—M9254] D+14 |1&(1Kg) 10kg
mlots{1/6hvkYATaVR—F(E@LE) D+14 |20 AX12{@ | 604
L [o16[1/4hvbYA T R—F(BEE) | D+14 [128 60{&
PR1017[1/6AVRY AT y—_yk(EE%)| 1808 [28)AX12{@E | 601
018|1/4hvrYA T v—_yh(EaE)| 1808 [12{& 601&

008

114

EEMBEPYNIR

003

WwEHA
NO [T £ ERAR| B (93291
101 | T 1/4 #944g D+7  |14840Y]] a]
102 |4+ 176 #935¢ D+7 |14%40%] aJ
103 |t 1/6 #930g D+7  |14840Y]] a]
104 |4 178 #922¢ D+7  |14840%] aJ
105 |—ER AT 1/6 #932g | D+7  [14840%] a
106 |—& R 1/6 $927¢ D+7  [1%%40%] a]
107 |[—ERREAT 1/8 #920g | D+7  [14%40%) a]
108 |2 EHL 1/4 #940¢g D+7  [1£%40%] a]
1092 KAl 1/6 #3935¢ D+7 |1£%40Y]) a]
110|2EHL 1/6 #930g D+7  [1%%40%] a]
111 |&FEHEL 1/6 #925¢ D+7 |1&40Y] a]
1M2|2KkHL 1/8 $17¢g D+7 |1££50%]) a]
WwWEAR(—EaE)
13| B4t 1/4 #944g D+7 |142401& A
1M4|2KRHEL 1/4 $540g D+7 |1£2401& ]
WwERA(@a—EaE)
15|+ 1/4 $944g D+7 |148401]] a]
116 |4+ 1/6 #935g D+7  |14%401] a]
17|Eft 1/6  #930g D+7  [1£%40%] a]
18|+ 1/8 #4922g D+7 [1%%40%] a]
119|—&RRE+ 1/6 #932g | D+7  [1538401] a]
120|—&REE4F 1/6 #927¢ D+7 |1£240%] a]
121 |—ERRE4+ 1/8 #920g | D+7  [1538401) a]
122|2KHL 1/4 $940g D+7 |1£%40%] a]
123|&FEHL 1/6 #935¢ D+7 |1%%40Y]) a]
124|2KHL 1/6 $930g D+7 |1£%40%] a]
125|&FEHEL 1/6 #925¢ D+7 |1%%40Y]) a]
126|2KHZL 1/8 #17¢g D+7 |1££50%]) a]




